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Find each product. (For your solution, use a separate paper if you need to.) 

 9 × 653 =  
 

8 × 347 =  
 

377 × 5 =  
 

746 × 6 =  
 

792 × 2 =  
 

513 × 4 =  
 

7 × 406 =  
 

3 × 275 =  
 

5 × 212 =  
 

 

 159 

× 9 

 
 

 621 

× 7 

 
 

 854 

× 2 

 
 

 170 

× 3 

 
 

 616 

× 6 

 
 

 864 

× 3 

 
 

 254 

× 8 

 
 

 485 

× 5 

 
 

 

Read and solve the problem. 

A postman travels to and back from his work every 

day for 416 miles. How many miles will he travel in 6 

days? 

 

Answer:  

  

3.OA.C.7 Three-Digit Multiplication 

3.OA.C.7: Fluently multiply and divide within 100 using strategies. 
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Find each product. (For your solution, use a separate paper if you need to.) 

 9 × 653 = 5,877 
 

8 × 347 = 2,776 
 

377 × 5 = 1,885 
 

746 × 6 = 4,476 
 

792 × 2 = 1,584 
 

513 × 4 = 2,052 
 

7 × 406 = 2,842 
 

3 × 275 = 825 
 

5 × 212 = 1,060 
 

 

 159 

× 9 

1,431 
 

 621 

× 7 

4,347 
 

 854 

× 2 

1,708 
 

 170 

× 3 

510 
 

 616 

× 6 

3,696 
 

 864 

× 3 

2,592 
 

 254 

× 8 

2,032 
 

 485 

× 5 

2,425 
 

 

Read and solve the problem. 

A postman travels to and back from his work every 

day for 416 miles. How many miles will he travel in 6 

days? 

 

Answer: 2,496 miles 

 

3.OA.C.7 Three-Digit Multiplication 
Answer Key 3.OA.C.7: Fluently multiply and divide within 100 using strategies. 

 

 

 


